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1. Introduction
After discussion in the last meeting, a WF [1] for network energy saving have been approved. We will focus on discussing the remaining issues from the last meeting.
2. Discussion
[bookmark: _Hlk131889382][bookmark: _Hlk134913516][bookmark: OLE_LINK5][bookmark: OLE_LINK7][bookmark: _Hlk134635900]2.1. TAE / RTD
In the WF, the issue for TAE is shown as below.
	Issue 1-1: TAE
· Further discuss the following values for TAE to guarantee the SSB-less feature performance
· Option 1: 2.x us, i.e., CP size for 30kHz SCS
· Option 2: 260ns
· Option 3: 65ns
· Option 4: 3us
· In the next meeting, encourage companies to provide the achievable values.


[bookmark: OLE_LINK9]During the last meeting, some companies provide several analyses on this issue. We notice that some of the analysis is based on some inter-band CA combinations that are similar to the intra-band contiguous CA. In our opinion, for the wider application of network energy saving in the future, the evaluation should not only focus on these cases, such as inter-band CA which has two frequencies that are far apart like CA_n41-n79. To achieve time synchronization, our first consideration is the TAE between two carriers should be less than CP/2. 
Observation 1: The TAE between the two carriers should be less than CP/2.
Table 1 shows the length of CP. In our opinion, the factor that determines the TAE requirement is the clock synchronization performance of BBU. Although the TAE requirement is 3us, our testing results show that the TAE of the BS in the network could achieve 300ns -700ns, which could be less than CP/2 in most cases.  

Observation 2: The TAE of the BS in the network could be optimized to 300ns-700ns, which could be less than CP/2 in most cases.
Table 1. The length of CP
	Numerology ()
	SCS (kHz)
	ECP
	NCP for Long Symbol
	NCP for Other Symbol

	0
	15kHz
	16.7 s
	5.2 s
	4.69 s

	1
	30kHz
	8.3 s
	2.86 s
	2.34 s

	2
	60kHz
	4.17 s
	1.69 s
	1.17 s



We have also noticed that some companies require stricter TAE requirements, such as 260ns or 65ns. These strict requirements are also less than CP/2 and could ensure time synchronization. In our opinion, if the TAE of BS in the network could achieve the time synchronization requirements, there is no need to define stricter requirements which will bring additional hardware updating. Some companies point out that 3us is an extreme condition, if a new TAE requirement should be defined, the CP/2 should be considered first.
[bookmark: _GoBack]Proposal 1: CP/2 should be considered first if we need to define new TAE requirements for NES.
[bookmark: OLE_LINK6]Proposal 2: The BS in the network could ensure time synchronization, and there is no need to change the inter-band CA TAE requirements.
Based on the discussion in the last meeting, we think the RF section should focus on the discussion on TAE and the discussion on RTD should be conducted in the RRM.  
Proposal 3: RTD requirement could wait for RRM decision.
2.2. Cell DTX
[bookmark: OLE_LINK10]BS support DTX/DRX means BS switches the transmission between turn on and turn off, we will analyze the RF requirements of DTX from interference and reception performance. BS transmitter operates within its transmit ON period and frequency band, which could not cause additional interference to other periods or frequency bands. Besides, the receive period of UE could correspond to the transmit ON period of BS. There may be some errors caused by TA between these two periods, but compared to the TDD ON-OFF transient period, this error could be ignored. So in our opinion, we did not find the necessary to define the transmitter transient period requirement for NES Cell DTX.
Observation 3: Considering the interference and reception, we did not find the necessary of defining the transmitter transient period requirement for cell DTX.
[bookmark: _Hlk115470282]3. Conclusions
In this contribution, some issue for RAN4 are discussed with the following proposals.
Observation 1: The TAE between the two carriers should be less than CP/2.
Observation 2: The TAE of the BS in the network could be optimized to 300ns-700ns, which could be less than CP/2 in most cases.
Proposal 1: CP/2 should be considered first if we need to define new TAE requirements for NES.
[bookmark: OLE_LINK8]Proposal 2: The BS in the network could ensure time synchronization, and there is no need to change the inter-band CA TAE requirements.
Proposal 3: RTD requirement could wait for RRM decision.
Observation 3: Considering the interference and reception, we did not find the necessary of defining the transmitter transient period requirement for cell DTX.
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